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M. Sc. (Home Science) (WEF 2016) (Sem. II)
Examination

August/September - 2020
Statistics (GEN. & F.N.)

Time : 2% Hours] [Total Marks : 70
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ENGLISH VERSION

Instructions :

(1)
2)
3)

Q. 1 is compulsory.
Answer any three from Q. 2 to Q. 6.
Marks of Q. 2 to Q.6 are equal.

1  Find mean, median and mode. Explain types of skewness. 16

Classes 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80

Frequency | 07 15 18 12 08 17 09 14

OR
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1 What 1s dispersion ? Discuss the measures of dispersion in

detail.

2 Find coefficient of variation and coefficient of skewness

by Karl Pearson’s method.

Classes

0-10

10-20 | 20-30

30-40

40-50

50-60

60-70

Frequency

8

7 5

12

3  Find Quartile deviation, coefficient of quartile deviation and

coefficient skewness by Bowly’s method.

Class

15-20

20-25 | 25-30 | 30-35

35-40

40-45

45-50

Frequency

3

9 14

20

35

09

06

4 (a) Find Karl Pearson’s correlation coefficient.

x |10
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14 {14 119 |20 | 22

26

y |9

8

10 (12|11 |14 |15

17

(b) Find Rank Correlation coefficient.

x |18

15

511017 |9]10

11|10
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15110131910

8 |6

12

5 (a) For the given data test the significant difference

between two means by t-test

[t(o.

n,

1,

v 2 = 1711
=12 o =85
= 16 < = 81

(b) Test the relation between Economic condition and 1Q

by using Chi-square test.

|:Z(20.05,1) =3.84
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Economic
. 1.0 Total
Condition
High Low
High 85 75 160
Low 165 175 | 340
Total 250 250 | 500

6 Write short note

. (any three)

(1) Types of correlation.
(2) Method of scatter diagram
(3) Types of Hypothesis.

18

(4) In testing of hypothesis type I error and type II error.

(5) Level of significance.
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